i =
v % Addition upp till 100 (horisontellt)

namn: Datum: Poing;
14+ 45 = 9+21 =
11+59 = 10+ 69 =
49 +93 = 51+ 35 =
70 + 26 = 3+ 44 =
57 + 89 = 49 +23 =
75+ 11 = 76 + 80 =
38+ 99 = 66 + 68 =
13+ 80 = 29 + 54 =
42 +24 = 08 + 78 =
65+ 76 = 28+77 =
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Sk l-K

Addition upp till 100 (horisontellt)

namn:

14+ 45 = 59

11 +59="70

49 +93 = 142

70 +26 = 96

57+89 = 146

75 + 11 = 86

38+ 99 = 137

13+80=93

42 +24 = 66

65 +76 = 141

Datum:

9+21=30

10+69="79

51+35=286

3+44 =47

49+23="T72

76 +80 = 156

66 + 68 = 134

29+54 =283

98 +78 = 176

28 +77 =105
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